Han

Han
14

42

Hoods/Housings for Han® HC Modular 350 enlarged Size 24 B

Identification

Han® HPR enlarged,
Frame,

for male inserts,

3x Han® HC Modular 350,

Pack contents:

4x M4 screw,

4x washer SK $4,
4x washer SK S6,

4x cheese-head screw M6 x 20,
4x cheese-head screw M6 x 25

Han® HPR enlarged,
Frame,

for female inserts,

3x Han® HC Modular 350,

Pack contents:

4x M4 screw,

4x washer SK $4,
4x washer SK S6,

4x cheese-head screw M6 x 20,
4x cheese-head screw M6 x 25

Cable entry

Part number

09 11 000 9957

09 11 000 9958

Drawing
(dimensions in mm)

Tightening torque Fixing screws M6: 10 Nm
Tightening torque Screws M4: 1.5 Nm

141
L 6 S O f
Q=0 —;—r@-ﬁ-ﬁ:’
R O oot

| 130 |

n. . 1

g = = o

Tightening torque Fixing screws M6: 10 Nm
Tightening torque Screws M4: 1.5 Nm



https://b2b.harting.com/ebusiness/eng_GBR/09110009957
https://b2b.harting.com/ebusiness/eng_GBR/09110009958

